Solutions for exercises in chapter 7:

e Exercise 1:
a) 3/4
b) 1/5
c) 1/2
d) 3/8
e) 1/8
f) 1/5
g) 1/2

e Exercise 2:

e Exercise 3:
a) 1
b) 1/r
c) Lower limit 0 and upper limit 1

e Exercise 4:
n
a) E[xn] = ;

e Exercise 5:

p)
a) P(Vzk)z(m)*ﬁ
e Exercise 6:
a) em(z—l)
b) m
c) m

e Exercise 7:

a) P(Z=k) =2, omtus)



Solutions for exercises in chapter 8:

e Exercise 4:
a) [.]
b) e 8

c) a/p

e Exercise 5:
a) p1=0p,=0;p3=0;p, =0

b) A+u
c) l_e—(l+u)t
1 1 1
d T, = 5:712:;} T3:F;T4—°°
1. —_H
e) P(3to4) = /1+#’P(3 tol) =
f) M1:51+3u
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